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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1: 
A. accept
B. accident
C. accurate
D. success

Question 2: 
A. ragged
B. reached
C. danced
D. sniffed
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

Question 3: 
A. interesting 
B. surprising
C. amusing
D. successful
Question 4: 
A. attract
B. connect
C. demand
D. marry
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 5: __________is a situation in which large numbers of people have little or no food, and many of them die.


A. Disaster
B. Famine
C. Poverty
D. Flood

Question 6: Reviewers often___________books as “hard to put down” or “hard to pick up again”.


A. describe
B. illustrate
C. classify
D. choose

Question 7: Thanks to the help of his teacher and classmates, he made great___________and passed the end-term exam with high marks.


A. work
B. progress
C. experience
D. fortunes

Question 8: Our firm___________a lot of business with overseas customers.


A. does
B. takes
C. deals
D. makes

Question 9: If you have any problem, please call Ann. She’ll always____________a sympathetic ear.


A. bring
B. borrow
C. give
D. lend

Question 10: “This library card will give you free access___________the Internet eight hours a day.”


A. on
B. from
C. to
D. in
Question 11: The police have begun an___________ into the accident which happened this afternoon.



A. investigation
B. investigative
C. Investigate
D. Investigating
Question 12: Tom hasn’t completed the work yet and Maria hasn’t____________.


A. neither
B. either
C. Too
D. also
Question 13: Neil Armstrong was the first man____________on the moon.


A. to walk
B. walking
C. Walked
D. has walked
Question 14: They didn’t find____________in a foreign country.


A. it easy to live
B. easy to live
C. it to live easy
D. it easy live
Question 15: Peter asked me____________.


A. what time does the film start 
B. what time the film starts


C. what time the film started 
D. what time did the film start
Question 16: I’m not accustomed___________up so early.


A. to getting
B. to get
C. by getting
D. getting

Question 17: Cars have become much more complicated. ____________, mechanics need more training than in the past.


A. However
B. Therefore
C. Otherwise
D. Furthermore

Question 18: It’s high time we___________.


A. are leaving
B. were leaving
C. leave
D. left
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 19: Let’s go over that report again before we submit it.


A. dictate
B. print
C. read carefully
D. type

Question 20: The repeated commercials on TV distract many viewers from watching their favourite films.


A. businesses
B. advertisements
C. economics
D. contests
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 21: He was so insubordinate that he lost his job within a week.


A. obedient
B. disobedient
C. fresh
D. understanding

Question 22: I’m sorry I can’t come out this weekend - I’m up to my ears in work.


A. bored
B. scared
C. free
D. busy
Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the following exchanges.

Question 23: Myra and Will are talking about university study.

-
Myra: “Do you think that university is the only way to guarantee us a good job?”

-
Will: “__________because there are successful people without a degree.”


A. I don’t quite agree

B. You are right


C. That’s true

D. Yes, we should find a job after university

Question 24: Mark has just arrived at the city and is asking a man on the street.

-
Mark: “Can you tell me how to get to Lotus Hotel?”

-
The man: “___________. I don’t know. I’m from out of town.”


A. Yes of course
B. Sure
C. I’ll show you
D. No, I’m sorry
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 25 to 29.


Choosing clothes can be difficult. Some people want to be fashionable, but they don’t want to look exactly like everybody else. Not all clothes are (25) ___________for work or school, perhaps (26) ___________they are not formal enough, or simply not comfortable. It is easy to buy the wrong size, and find that your trousers are too tight, especially if you are a little bit overweight. Very (27) ___________clothes make you feel slim, but when they have shrunk in the washing machine, then you have the same problem! If you buy light cotton clothes, then they might not be (28) ___________for winter. If your shoes are not waterproof and if you aren’t (29) ___________for the cold, you might look good, but feel terrible!
Question 25. 
A. comfortable
B. suitable
C. fitted
D. equal
Question 26. 
A. because
B. but
C. so
D. although
Question 27. 
A. loosened
B. lose
C. loose
D. lost
Question 28. 
A. too warm
B. warm enough
C. so warm
D. enough warm
Question 29. 
A. dressed
B. clothed
C. worn
D. fitted
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 30 to 34.


In 776 B.C., the first Olympic Games were held at the foot of Mount Olympus to honor the Greek’s chief god, Zeus. The warm climate for outdoor activities, the need for preparedness in war, and their lifestyle caused the Greeks to create competitive sports. Only the elite and military could participate at first, but later the games were opened to all free Greek males who had no criminal record.The Greeks emphasized physical fitness and strength in their education of youth. Therefore, contests in running, jumping, javelin throwing, boxing, and horse and chariot racing were held in individual cities, and the winners competed every four years at Mount Olympus. Winners were greatly honored by having olive wreaths placed on their heads and having poems sung about their deeds. Originally these contests were held as games of friendship and any wars in progress were halted to allow the games to take place. They also helped to strengthen bonds among competitors and the different cities presented.


The Greeks attached so much importance to the games that they calculated time in four-year cycles called “Olympiads”, dating from 776 B.C. The contest coincided with religious festivities and constituted an all-out effort on the part of participants to please the gods. Any who disobeyed the rules were dismissed and seriously punished. These athletes brought shame not only to themselves but also to the cities they represented. 
Question 30: Which of the following is NOT true?


A. Winners placed olive wreaths on their own heads.


B. The games were held in Greek every four years.


C. Battles were interrupted to participate in the games.


D. Poems glorified the winners in songs.

Question 31: The word “elite” in paragraph 1 is closest in meaning to___________.


A. aristocracy
B. brave
C. intellectual
D. muscular

Question 32: Why were the Olympic Games held?


A. To stop wars.

B. To honor Zeus.


C. To crown the best athletes.
D. To sing songs about the athletes.

Question 33: The word “They” in paragraph 1 refers to___________.


A. wars
B. winners
C. contests
D. olive wreaths

Question 34: What is the main idea of this passage?


A. Physical fitness was an integral part of the life of ancient Greeks.


B. The Greeks severely punished those who didn’t participate in physical fitness programs.


C. The Greeks had always encouraged everyone to participate in the games.


D. The Greeks had the games coincide with religious festivities so that they could go back to war when the games were over

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 35 to 42.


In 2011, on the popular American TV quiz show, Jeopardy!, two champions competed against a brand new opponent. Both Ken Jennings and Brad Rutter had won millions of dollars on Jeopardy! Jennings once won 74 games in a row, the most ever. Then Rutter beat him in a tournament and set a new record for the most money won on Jeopardy! Their new opponent, Watson, had never appeared on the game show and had only played practice games before, in which he often got answers wrong.


However, Watson isn't human. He, or rather it, is a machine, a wonder of technology made by researchers at IBM. In the game, Watson used math to decide on an answer. When a question was read out, Watson was immediately given the same question in electronic form. It analyzed the question and searched its memory bank - about the same as one million books of information - for possible answers. It then narrowed the options down to one answer. If Watson felt around 75 percent confident about the answer, it would answer the question.


The way Watson thinks is very different from the way humans think. People often make decisions by listening to their emotions and feelings, even if they are unsure of the answer. As a computer, Watson couldn't do this. People also watch and listen to those around them. Watson was not able to "listen" to the wrong answers given by his competitors. In one question, Jennings answered the question incorrectly and Watson later answered with the same wrong answer. Watson also made silly mistakes. In a question in the category U.S. Cities, Watson incorrectly answered Toronto, even though the city of Toronto is in Canada. An IBM researcher said Watson got confused because it saw in its memory bank that the U.S. is often called America. Toronto is considered a North American city, so that was the answer that Watson gave.


Still, Watson defeated his human opponents somewhat easily and received the $1 million prize. The other players also won money for participating in the special game. Everyone left the game happy, as each player was earning money for different charities.

Question 35: What best serves as the title for the passage?


A. Champions of Jeopardy!
B. A Technological Marvel


C. Human is Smarter

D. Competitors of Jeopardy!.

Question 36: Which of the following is a silly mistake of Watson?


A. He gave many answers to one question.


B. He based on other people’s clues to answer questions.


C. He repeated the question.


D. He repeated his opponent’s answer that was wrong.

Question 37: The word “him” in paragraph 1 refers to___________.


A. Ken Jennings
B. Brad Rutter
C. Watson
D. an IBM researcher

Question 38: How can Watson understand the question read out by humans?


A. He reads the question in an electronic form. 



B. He just listens to it.


C. He searches for the same question in his memory. 

D. He is helped by an IBM researcher.

Question 39: Why did Watson mistake Toronto as of America?


A. Because Toronto is not a city.


B. Because Toronto is not in America.


C. Because the U.S. is called America in his memory bank.


D. Because Canada isn’t in his memory bank

Question 40: The word “bank” in paragraph 2 is closest in meaning to___________.


A. a financial service 
B. money
C. stored information 
D. side

Question 41: All of the following statements are true about Watson EXCEPT___________.

A. In order to answer questions, Watson uses math.


B. His memory bank is equal to one million books.


C. He’d never been in an official Jeopardy! before he joined the show with Jennings and Rutter.


D. The way Watson produces an answer is the same as that of humans.

Question 42: The word “defeated” in the last paragraph is closest in meaning to___________.


A. understood
B. won
C. lost
D. broke
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 43: Air pollution, together with littering, have been causing many problems in our large, 

                         A                                B                         C

industrial cities in the last few years.

                                                   D
Question 44: There is a severe famine in Somalia , and thousands of people are dying from hungry.


      A
                                B                                     C           D

Question 45: Venus approaches the Earth more closely than any other planet is.


                 A              B
                                        C                D
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 46: They arrived too late to get good seats.


A. They had to stand for the whole show.


B. They got good seats some time after they arrived.


C. As they got there too late, there were no good seats left.


D. Although they were late, they found some good seats.

Question 47: “How brave you are!” he said to the firemen.


A. He criticized the firemen for their discouragement.


B. He asked how brave the firemen were.


C. He blamed the firemen for their discouragement.


D. He praised the firemen for their courage.

Question 48: Peter’s main subject at university is electronics.


A. Peter thinks electronics is a special subject.


B. Peter majors in electronics at university.


C. The university lets Peter major in electronics.


D. Electronics is among the subjects that Peter likes
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 49: She is a famous author. She is also an influential political commentator.


A. She likes writing famous books and commenting on politics.


B. She is neither a famous author nor a political commentator.


C. She writes famous books, but she does not know much about politics.


D. She is not only a famous author but also an influential political commentator
Question 50: The old man is working in this factory. I borrowed his bicycle yesterday.


A. The old man whom is working in this factory, I borrowed his bicycle yesterday.


B. The old man whom I borrowed his bicycle yesterday is working in this factory.


C. The old man whose bicycle I borrowed yesterday is working in this factory.


D. The old man is working in this factory which I borrowed his bicycle yesterday
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LỜI GIẢI CHI TIẾT

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions

Question 1: Đáp án C
A. accept /əkˈsept/
B. accident /ˈæksɪdənt/
C. accurate /ˈækjərət/
D. success /səkˈses/
Question 2: Đáp án A
Phương án A là tính từ nên -ed được phát âm là /ɪd/, các phương án B, C, D là động từ có kết thúc lần lượt là /ʃ/, /s/ và /f/ nên -ed được phát âm là /t/
A. ragged /ˈræɡɪd/
B. reached /riːtʃt/
C. danced /dɑːnst/
D. sniffed /snɪft/
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position ofprimary stress in each of the following questions
Question 3: Đáp án A
Giải thích:
A. interesting /ˈɪntrəstɪŋ/
B. surprising /səˈpraɪzɪŋ/
C. amusing /əˈmjuːzɪŋ/
D. successful /səkˈsesfl/
Question 4: Đáp án D
Giải thích:
A. attract /əˈtrækt/

B. connect /kəˈnekt/
C. demand /dɪˈmɑːnd/
D. marry /ˈmæri/
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 5: Đáp án B
A. Disaster (n.): thảm họa

B. Famine (n.): nạn đói

C. Poverty (n.): nghèo đói

D. Flood (n.): lũ lụt

Dịch nghĩa: Nạn đói là tình trạng khi một số lượng lớn người có rất ít hoặc không có thức ăn, và nhiều người trong số họ chết
Question 6: Đáp án C
Giải thích:

A. describe (v.): miêu tả
B. illustrate (v.): minh họa
C. classify (v.): phân loại
D. choose (v.): lựa chọn

Dịch nghĩa: Những người đánh giá sách thường phân loại sách thành “khó để đặt xuống” hoặc “khó để đọc lại lần nữa”.
Question 7: Đáp án B
Giải thích:

A. work (n.): công việc


B. progress (n.): tiến bộ

C. experience (n.): kinh nghiệm

D. fortunes (n.): gia tài

Dịch nghĩa: Nhờ có sự giúp đỡ của thầy giáo và các bạn, cậu ấy đã tiến bộ vượt bậc và đạt điểm cao trong kỳ thi.

Question 8: Đáp án A
Giải thích: cấu trúc: do business with sb: bán hàng cho ai

Dịch nghĩa: Công ty chúng tôi bán rất nhiều hàng cho các khách hàng nước ngoài.
Question 9: Đáp án D
Giải thích: Thành ngữ cố định: lend an ear: lắng nghe đồng cảm

Dịch nghĩa: Nếu cậu gặp vấn đề gì, hãy gọi cho Ann. Cô ấy luôn lắng nghe cảm thông với người khác.

Question 10: Đáp án C
Giải thích: Ta có cụm access to: truy cập vào cái gì

Dịch nghĩa: “Thẻ thư viện này sẽ giúp bạn truy cập Internet tám tiếng một ngày”.

Question 11: Đáp án A
Giải thích: Trước chỗ trống cần điền là mạo từ an, vậy ta cần một danh từ để hoàn thành câu. Trong 4

phương án chỉ có phương án A. investigation (cuộc điều tra) là danh từ.

Dịch nghĩa: Cảnh sát đã bắt đầu cuộc điều tra về vụ tai nạn xảy ra chiều nay.

Question 12: Đáp án B
Giải thích: Câu đã cho có hai mệnh đề đều mang nghĩa phủ định nên trong mệnh đề thứ hai ta dùng

either sau trợ động từ hasn’t để lặp lại ý phủ định.

Dịch nghĩa: Tom vẫn chưa hoàn thành công việc và Maria cũng vậy.

Question 13: Đáp án A
Giải thích: Chỗ trống cần điền một mệnh đề quan hệ bổ nghĩa cho danh từ man, và trước đó có từ chỉ

thứ tự the first (đầu tiên) nên ta rút gọn mệnh đề quan hệ bằng to-verb.
Dịch nghĩa: Neil Amstrong là người đầu tiên bước lên mặt trăng.

Question 14: Đáp án A
Giải thích: Ta có cụm find sth + adj: thấy cái gì đó như thế nào

Dịch nghĩa: Họ cảm thấy sống ở nước ngoài không dễ dàng chút nào.

Question 15: Đáp án C
Giải thích: cấu trúc câu tường thuật của câu hỏi: S + reporting verb + (O) + wh-word + S + V (lùi

thì). Động từ tường thuật asked (hỏi) ở quá khứ, nên động từ chính sẽ lùi thì thành thì quá khứ. 
Dịch nghĩa: Peter hỏi tôi mấy giờ bộ phim bắt đầu.

Question 16: Đáp án A
Giải thích: cấu trúc: accustomed to V-ing: quen với việc gì

Dịch nghĩa: Tôi không quen dậy sớm.

Question 6: Đáp án C
Question 17: Đáp án B
Giải thích: Ta cần một liên từ để nối hai câu. Dịch nghĩa tương ứng của hai câu: xe hơi ngày càng phức

tạp (cars have become much more complicated) và thợ cơ khí cần được đào tạo nhiều hơn trước (mechanics need more training than in the past) có mối quan hệ nguyên nhân-kết quả nên liên từ phù hợp là therefore.
Dịch nghĩa: Xe hơi ngày càng phức tạp. Do đó, thợ cơ khí cũng cần được đào tạo nhiều hơn trước.

Question 18: Đáp án D
Giải thích: cấu trúc câu giả định: It’s high time S + V-ed

Dịch nghĩa: Đã đến lúc chúng ta phải đi
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 19: Đáp án C
Giải thích: Let’s go over that report again before we submit it. (Chúng ta hãy cùng đọc kỹ lại bản

báo cáo trước khi nộp.)

A. dictate (v.): đọc chính tả



B. print (v.): in

C. read carefully (v. p.): đọc cẩn thận

D. type (v.): gõ

Như vậy, go over (đọc kỹ) có nghĩa tương đồng với phương án C.

Question 20: Đáp án B
Giải thích: The repeated commercials on TV distract many viewers from watching their favourite

films. (Họ lặp đi lặp lại các quảng cáo trên tivi khiến nhiều khán giả mất tập trung khi xem bộ phim yêu thích của họ).
A. businesses (pl. n.): công ty

B. advertisements (pl. n.): quảng cáo
C. economics (n.): nền kinh tế
D. contests (pl. n.): cuộc thi
Như vậy, commercials (quảng cáo) có nghĩa tương đồng với phương án B.

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 21: Đáp án A
Giải thích: He was so insubordinate that he lost his job within a week. (Anh ta ngang ngược đến

nỗi chưa đầy 1 tuần đã mất việc.)

A. obedient (adj.): biết vâng lời, tuân theo quy định

B. disobedient (adj.): ngỗ ngược

C. fresh (adj.): tươi mới

D. understanding (adj.): hiểu, biết thông cảm

Như vậy, insurbodinate (ngang ngược) có nghĩa tương phản với phương án A.

Question 22: Đáp án C
Giải thích: I’m sorry I can’t come out this weekend - I’m up to my ears in work. (Xin lỗi cuối tuần

này tôi không thể đi chơi được - Tôi đang ngập đầu trong công việc).

A. bored (adj.): nhàm chán


B. scared (adj.): sợ hãi

C. free (adj.): rảnh rỗi


D. busy (adj.): bận rộn

Như vậy, up to my ears (rất bận rộn) có nghĩa tương phản với phương án C.

Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the following exchanges.

Question 23: Đáp án A
Giải thích: Đoạn hội thoại trình bày quan điểm cá nhân và người đáp không đồng ý với quan điểm

được đưa ra.

Dịch nghĩa 4 phương án:

A. Tớ không hoàn toàn đồng ý (thể hiện việc không đồng ý với quan điểm được đưa ra)
B. Cậu nói đúng
C. Đúng vậy

D. Đúng, chúng ta nên tìm việc sau khi học xong đại học 
Dịch nghĩa: Myra và Will đang trò chuyện về việc học đại học.
- Myra: “Cậu có nghĩ là chỉ có học đại học mới đảm bảo cho chúng ta một công việc tốt? ”

- Will: “Tớ không hoàn toàn đồng ý bởi vì có rất nhiều người thành công mà không cần tấm bằng đại học

Question 24: Đáp án D
Giải thích: Lời đáp cần đưa ra lời từ chối đề nghị giúp của người nói.

Dịch nghĩa 4 phương án:

A. Tất nhiên rồi
B. Chắc chắn rồi

C. Tôi sẽ chỉ cho anh

D. Không, xin lỗi (là lời từ chối lời đề nghị giúp đỡ)

Dịch nghĩa: Mark vừa mới đặt chân đến thành phố và hỏi một người đàn ông trên đường.
- Mark: “Anh có thể chỉ cho tôi đường đến khách sạn Hoa Sen được không? ”

- Người đàn ông: “Không xin lỗi. Tôi không biết đường. Tôi đến từ vùng khác
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 25 to 29.

Question 25: Đáp án B
Giải thích:
A. comfortable (adj.): thoải mái 
B. suitable (adj.): phù hợp 

C. fitted (adj.): vừa 


D. equal (adj.): cân bằng
Question 26: Đáp án A
Giải thích:
A. because (conj.): bởi vì

B. but (conj.): nhưng
C. so (conj.): vì vậy 


D. although (conj.): mặc dù
Question 27: Đáp án C
Giải thích: Sau vị trí cần điền là danh từ clothes (quần áo) nên ta cần điền một tính từ nên ta loại phương án A và B.

C. loose (adj.): (quần áo) rộng

D. lost (adj.): thất lạc
Question 28: Đáp án B
Giải thích: Cấu trúc: S + be + adj + enough + to verb… (đủ... để làm gì)
Question 29: Đáp án A
Giải thích: Trước chỗ trống cần điền là động từ to be aren’t nên ta cần điền một tính từ hoặc một phân từ quá khứ (mang nghĩa bị động), tuy nhiên mặc quần áo mang ý nghĩa chủ động nên ta cần điền tính từ dressed.

Dịch nghĩa toàn bài:

Lựa chọn quần áo có thể là một việc rất khó khăn. Một số người muốn hợp thời trang, nhưng họ không muốn giống hệt như mọi người khác. Không phải tất cả quần áo đều phù hợp cho nơi công sở hoặc trường học, có lẽ vì chúng không đủ trang trọng, hoặc đơn giản là không thoải mái. Bạn rất dễ mua quần áo nhầm kích cỡ, và nhận ra quần của bạn quá chật, đặc biệt nếu bạn hơi thừa cân. Quần áo rộng khiến bạn thấy mình thon thả, nhưng khi chúng bị co lại trong máy giặt thì bạn cũng gặp vấn đề tương tự! Nếu bạn mua quần áo vải cốt tông nhẹ thì có thể chúng không đủ ấm cho mùa đông. Nếu đôi giày của bạn không chống thấm nước và nếu bạn không mặc phù hợp trong thời tiết lạnh, bạn có thể trông ổn, nhưng cảm thấy thật tồi tệ!

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 30 to 34

Dịch nghĩa toàn bài:
	
Vào năm 776 trước Công nguyên1, Thế vận hội Olympic đầu tiên được tổ chức dưới chân núi Olympus để tôn vinh vị thần đứng đầu của người Hy Lạp - Zeus. Khí hậu ấm áp phù hợp cho các hoạt động ngoài trời, sự cần thiết của việc chuẩn bị sẵn sàng cho chiến tranh và lối sống của họ đã khiến người Hy Lạp sáng tạo ra các môn thể thao có tính cạnh tranh. Ban đầu chỉ có giới thượng lưu và quân đội mới có thể tham gia, nhưng sau đó các cuộc thi đấu được mở ra cho tất cả những người đàn ông Hy Lạp tự do không có tiền án2. Người Hy Lạp nhấn mạnh đến thể lực và sức mạnh trong việc giáo dục giới trẻ. Do đó, các cuộc thi chạy, nhảy, ném lao, đấm bốc, đua ngựa và đua xe ngựa đã được tổ chức ở các thành phố riêng lẻ và những người chiến thắng sẽ thi đấu tại núi Olympus bốn năm một lần. Người chiến thắng đã được vinh danh bằng cách được trao vòng nguyệt quế3 trên đầu và các ca khúc về những chiến công4 của họ được cất lên. Ban đầu các trận đấu được tổ chức vì tình hữu nghị và bất kỳ cuộc chiến nào đang diễn ra đều bị dừng lại để Thế vận hội được diễn ra. Các trận đấu cũng đã giúp tăng cường mối quan hệ5 giữa các đối thủ cạnh tranh và các thành phố khác nhau mà họ đại diện.


Người Hy Lạp coi trọng các trận đấu đến nỗi họ tính thời gian theo chu kỳ bốn năm gọi là Olympiads, tính từ năm 776 trước Công nguyên. Giải đấu trùng với các lễ hội tôn giáo và tạo nên một nỗ lực toàn diện6 của phía những người tham gia để tôn vinh các vị thần. Bất kỳ ai không tuân theo các quy tắc đều bị loại và trừng phạt nghiêm khắc. Các vận động viên này đã gây ra sự xấu hổ không chỉ cho bản thân họ mà còn cho các thành phố mà họ đại diện.
	1. B.C (before Christ)

2. criminal record (n. phr.)

3. olive wreath (n. phr.)
4. deed (n.)

5. strengthen bonds (v. phr.)

6. all-out effort (n.)


Question 30: Đáp án A
Dịch nghĩa câu hỏi: Phát biểu nào sau đây KHÔNG đúng?

A. Các nhà vô địch tự mình đặt vòng nguyệt quế lên đầu.

B. Thế vận hội được tổ chức ở Hy Lạp 4 năm một lần.

C. Các cuộc chiến bị gián đoạn để tham gia vào Thế vận hội.

D. Các bài thơ vinh danh người chiến thắng.

Giải thích: Thông tin ở câu: Winners were greatly honored by having olive wreaths placed on their heads là hành động bị động nên phát biểu ở phương án A sai.

Question 31: Đáp án A
Dịch nghĩa câu hỏi: Từ “elite” ở đoạn 1 gần nghĩa nhất với
___________

A. tầng lớp quý tộc

B. dũng cảm

C. trí thức

D. khỏe mạnh

Giải thích: từ elite trong bài có nghĩa giới thượng lưu, gần nghĩa nhất với phương án A

Question 32: Đáp án B
Dịch nghĩa câu hỏi: Tại sao thế vận hội Olympic được tổ chức?
A. để ngăn chặn chiến tranh
B. để tôn vinh thần Zeus
C. để trao vương miện cho các vận động viên xuất sắc nhất
D. để hát các ca khúc về các vận động viên
Giải thích: Dựa vào câu đầu tiên của bài: In 776 B.C., the first Olympic Games were held at the foot of Mount Olympus to honor the Greek’s chief god, Zeus.

Question 33: Đáp án C
Dịch nghĩa câu hỏi: Từ “They” ở đoạn 1 thay thế cho___________.
A. các cuộc chiến tranh 
B. các nhà vô địch 
C. các trận đấu
D. các vòng nguyệt quế
Xét câu trước đó: Originally these contests were held as games of friendship từ contests được thay thế bằng từ they nên phương án C phù hợp nhất.

Question 34: Đáp án A
Dịch nghĩa câu hỏi: Ý chính của đoạn văn là gì?

A. Sức khỏe thể chất là một phần không thể thiếu trong cuộc sống của người Hy Lạp cổ đại.

B. Người Hy Lạp đã trừng phạt nghiêm khắc những người không tham gia các chương trình thể dục thể chất.
C. Người Hy Lạp đã luôn khuyến khích tất cả mọi người tham gia vào Thế vận hội.

D. Người Hy Lạp tổ chức Thế vận hội trùng với các lễ hội tôn giáo để họ có thể quay lại cuộc chiến khi Thế vận hội kết thúc.

Giải thích: Đoạn văn đề cập đến Thế vận hội ở Hy lạp là một cách để giúp người dân nâng cao sức khỏe. Phát biểu ở các phương án B, C, D không đúng với thông tin trong đoạn văn.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 35 to 42.

Dịch nghĩa toàn bài:
	
Năm 2011, trong chương trình đố vui nổi tiếng trên truyền hình Mỹ, Jeopardy!, hai nhà vô địch đã cạnh tranh với1 một đối thủ hoàn toàn mới. Cả Ken Jennings và Brad Rutter đã giành được hàng triệu đô la trên Jeopardy! Jennings đã từng thắng 74 trận liên tiếp2, nhiều nhất từ trước đến nay. Sau đó, Rutter đánh bại anh này trong một giải đấu và lập kỷ lục mới3 về số tiền kiếm được nhiều nhất trên Jeopardy! Đối thủ mới của họ, Watson, chưa bao giờ xuất hiện trong trò chơi truyền hình này và chỉ chơi các trò chơi luyện tập trước đó, mà anh thường trả lời sai.


Tuy nhiên, Watson không phải là con người. Anh, hay đúng hơn là nó, là một cỗ máy, một kỳ quan công nghệ4 được tạo ra bởi các nhà nghiên cứu tại IBM. Trong chương trình, Watson đã sử dụng toán học để quyết định câu trả lời. Khi một câu hỏi được đọc lên, Watson ngay lập tức nhận được câu hỏi đó dưới dạng điện tử. Nó phân tích câu hỏi và tìm kiếm trong ngân hàng bộ nhớ của mình - tương đương với thông tin của một triệu cuốn sách - để tìm câu trả lời. Sau đó, nó thu hẹp các tùy chọn xuống thành một câu trả lời. Nếu Watson cảm thấy khoảng 75% tự tin về câu trả lời, nó sẽ trả lời câu hỏi.


Cách Watson nghĩ rất khác với cách suy nghĩ của con người. Mọi người thường đưa ra quyết định bằng cách lắng nghe cảm xúc và cảm giác của mình, ngay cả khi họ không chắc chắn về câu trả lời. Như một máy tính, Watson không thế làm điều này. Mọi người cũng thường quan sát và nghe những người xung quanh. Watson không thể "lắng nghe" những câu trả lời sai mà các đối thủ đã đưa ra. Trong một câu hỏi, Jennings đã trả lời sai câu hỏi và sau đó Watson đã trả lời bằng chính câu trả lời sai đó. Watson cũng mắc những sai lầm ngớ ngẩn. Trong một câu hỏi trong danh mục Các bang của Hoa Kỳ, Watson đã trả lời sai là Toronto, mặc dù thành phố Toronto nằm ở Canada. Một nhà nghiên cứu của IBM cho biết Watson đã nhầm lẫn5 bởi vì nó thấy trong ngân hàng bộ nhớ của mình rằng Hoa Kỳ thường được gọi là Mỹ. Toronto được coi là một thành phố Bắc Mỹ, vì vậy đó là câu trả lời mà Watson đưa ra.


Tuy nhiên, Watson đã đánh bại đối thủ con người của mình một cách dễ dàng và nhận được giải thưởng trị giá 1 triệu đô la. Những người chơi còn lại cũng giành được tiền thưởng khi tham gia chương trình đặc biệt này. Mọi người kết thúc trò chơi trong vui vẻ, vì mỗi người chơi đang quyên góp tiền cho những tổ chức từ thiện khác nhau.
	1. compete against (v. phr.)
2. in a row (idiom)

3. set a new record (v. phr.)
4. a wonder of technology (n. phr..)
5. get confused


Question 35: Đáp án B
Dịch nghĩa câu hỏi: Đâu là tiêu đề tốt nhất cho đoạn văn?

A. Các nhà vô địch Jeopardy!

B. Một kỳ quan công nghệ

C. Con người thông minh hơn
D. Các đối thủ cạnh tranh trên Jeopardy!
Giải thích: Đoạn văn đề cập đến những thông tin về Watson, một chiếc máy tính thông minh do con người tạo ra, do đó phương án B phù hợp nhất.
Question 36: Đáp án D
Dịch nghĩa câu hỏi: Đâu là một lỗi sai ngớ ngẩn của Watson?

A. Nó đưa ra nhiều câu trả lời cho một câu hỏi.

B. Nó dựa vào gợi ý của những người khác để trả lời câu hỏi.

C. Nó lặp lại câu hỏi.

D. Nó lặp lại câu trả lời sai của đối thủ.

Giải thích: Thông tin có ở câu 6 đoạn 3: In one question, Jennings answered the question incorrectly and Watson later answered with the same wrong answer.

Question 37: Đáp án A
Dịch nghĩa câu hỏi: Từ “him” ở đoạn 1 đề cập đến____________.

A. Ken Jennings

B. Brad Rutter

C. Watson


D. một nhà nghiên cứu ở IBM

Giải thích: Xét câu trước đó: Jennings once won 74 games in a row, the most ever. Jennings ở câu này được nhắc lại trong câu sau bằng từ him, do vậy phương án A phù hợp nhất.

Question 38: Đáp án A
Dịch nghĩa câu hỏi: Làm thế nào Watson có thể hiểu câu hỏi được con người đọc lên?

A. Nó đọc câu hỏi dưới dạng điện tử.

B. Nó chỉ cần nghe câu hỏi.

C. Nó tìm câu hỏi tương tự trong bộ nhớ của mình.

D. Nó được một nhà nghiên cứu của IBM giúp đỡ.

Giải thích: Thông tin có ở câu: When a question was read out, Watson was immediately given the same question in electronic form.

Question 39: Đáp án C
Dịch nghĩa câu hỏi: Tại sao Watson nhầm thành phố Toronto là của Mỹ?

A. Bởi vì Toronto không phải là một thành phố.

B. Vì Toronto không ở Mỹ.

C. Bởi vì Hoa Kỳ được gọi là Mỹ trong bộ nhớ của nó.

D. Bởi vì Canada không có trong bộ nhớ của nó
Giải thích: Thông tin ở câu cuối đoạn 3: [...] because it saw in its memory bank that the U.S. is often called America. Toronto is considered a North American city, so that was the answer that Watson gave.

Question 40: Đáp án C
Dịch nghĩa câu hỏi: Từ "bank" trong đoạn 2 có nghĩa gần nhất với___________.

A. một dịch vụ tài chính

B. tiền

C. thông tin được lưu trữ

D. bờ sông

Giải thích: Từ bank trong đoạn 2 mang nghĩa lượng thông tin được lưu trữ, gần nghĩa nhất với phương án C.

Question 41: Đáp án D
Dịch nghĩa câu hỏi: Các phát biểu sau đây về Watson đều đúng NGOẠI TRỪ___________
A. Để trả lời câu hỏi, Watson sử dụng toán học.

B. Ngân hàng bộ nhớ của nó tương đương một triệu cuốn sách.

C. Nó chưa từng tham gia một chương trình Jeopardy! chính thức nào trước khi tham gia chương trình cùng với Jennings và Rutter.

D. Cách Watson đưa ra câu trả lời giống như con người
Giải thích: Phát biểu ở phương án D không đúng do thông tin có ở câu: The way Watson thinks is very different from the way humans think.

Question 42: Đáp án B
Dịch nghĩa câu hỏi: Từ "defeated" ở đoạn cuối gần nghĩa nhất với____________
.

A. hiểu

B. thẳng
C. thua

D. vỡ

Giải thích: Từ defeated trong đoạn cuối mang nghĩa đánh bại, nên gần nghĩa nhất với phương án B.

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 43: Đáp án B
have been → has been

Giải thích: Khi 2 danh từ nối với nhau bằng together with làm chủ ngữ của câu, động từ của câu sẽ chia theo danh từ thứ nhất. Danh từ thứ nhất của câu là danh từ số ít, do vậy động từ cần chia số ít. 
Dịch nghĩa: Ô nhiễm không khí, cùng với xả rác, đã gây ra nhiều vấn đề cho các thành phố công nghiệp lớn của chúng ta trong những năm gần đây.

Question 44: Đáp án D
hungry → hunger

Giải thích: Ta có cấu trúc: die from + N: chết vì lí do gì

Dịch nghĩa: Có một nạn đói nghiêm trọng ở Somalia và hàng ngàn người đang chết vì đói.
Question 45: Đáp án D
is → does

Giải thích: cấu trúc so sánh hơn với trạng từ: S1 + V + more + adv + than + S2 + auxiliary 
Dịch nghĩa: Sao Kim tiến gần Trái đất hơn bất kỳ hành tinh nào khác.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 46: Đáp án C
Giải thích: They arrived too late to get good seats. (Họ đến quá trễ nên không tìm được chỗ ngồi tốt)
Dịch nghĩa 4 phương án:

A. Họ phải đứng trong suốt buổi diễn.
B. Họ tìm được chỗ ngồi tốt một lúc sau khi họ đến.

C. Vì họ tới đó quá muộn, không còn chỗ ngồi tốt.

D. Mặc dù họ đến muộn, họ vẫn tìm được cho ngồi tốt.

Phương án C có nghĩa phù hợp nhất với nghĩa của câu đề bài cho.

Question 47: Đáp án D
Giải thích: “How brave you are!” he said to the firemen. (Anh ấy nói với người lính cứu hỏa: "Anh

thật là dũng cảm!") là lời nói trực tiếp có dạng câu cảm thán, nên trong câu gián tiếp, ta dùng động từ praised (khen ngợi) để tường thuật lại.

Dịch nghĩa: Anh ấy khen ngợi những người lính cứu hỏa vì lòng dũng cảm.
Question 48: Đáp án B
Giải thích: Peter’s main subject at university is electronics. (Chuyên ngành chính của Peter ở đại

học là điện tử).

Dịch nghĩa 4 phương án:

A. Peter nghĩ rằng điện tử là một môn học đặc biệt.

B. Peter học chuyên ngành điện tử ở đại học.

C. Trường đại học cho phép Peter học chuyên ngành điện tử.

D. Điện tử nằm trong những chuyên ngành Peter yêu thích.

Phương án B có nghĩa phù hợp nhất với câu đề bài cho

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 49: Đáp án D
Giải thích: She is a famous author. She is also an influential political commentator. (Cô ấy là một tác giả nối tiếng. Cô ấy đồng thời cũng là một nhà bình luận chính trị có tầm ảnh hưởng).

Hai câu đề bài cho có cùng chủ ngữ she và cùng mang nghĩa khẳng định nên ta nối hai câu bằng cấu

trúc not only... but also...

Dịch nghĩa: Cô ấy không chỉ là một tác giả nổi tiếng mà còn là một nhà bình luận chính trị có tầm ảnh hưởng.

Question 50: Đáp án C
Giải thích: The old man is working in this factory. I borrowed his bicycle yesterday. (Người đàn

ông lớn tuổi đang làm việc trong nhà máy này. Tôi đã mượn xe đạp của ông ấy vào ngày hôm qua.) 
Trong hai câu đã cho, chủ ngữ the old man (người đàn ông lớn tuổi) trong câu thứ nhất được lặp lại trong câu thứ hai bằng tính từ sở hữu his (của ông ấy) nên ta dùng mệnh đề quan hệ chỉ sự sở hữu để nối hai câu.

Dịch nghĩa: Người đàn ông lớn tuổi tôi đã mượn xe đạp vào hôm qua đang làm việc trong nhà máy này
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